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1. The manifestation of low productivity in most public organisations in Nigeria is as a
result of

administrative inefficiency

2. Only through an effective ___ can the goals of socio-economic development be
achieved

administrative system
3. The field that studies the social progress of man is called
History

4. The government being the principal planner, financier, promoter and director of
national development depends on

bureaucracy

5. The ___ is the person at the head of the administrative system of a country

chief executive

6.Ina___ system, the government at lower levels enjoys certain amount of autonomy
decentralised

7. One of the following is not a violation of administrative responsibility in Nigeria
Components

8. In Parliamentary form of government, executive powers lie with the

Prime Minister

9. The introduction of machinery for planning economic growth and mobilising
resources to expand national income is called

development administration

10. The principle of specialisation in administration presupposes that administration is
divided into

departments
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